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010101 JH& 2 A
HAYREES M2 171.6 10,000 1,716,000 10,000 1,716,000
22sdtel 4.2M0] &F M2 154.4 3,000 463,320 3,000 463,320 10,000 1,544,400 16,000 2,471,040
A2 S&&2 & 2CONE M2 171.6 8,000 1,372,800 8,000} 1,372,800
HOj& 28k M2 171.6 4,000 686,400 4,000 686, 400
SHSLE X - ute HHEE 0.03mm*2& M2 173.7 3,000 521,160 3,000} 521,160

(e H] 984,480 1,836, 1200 3,946,800 6,767,400
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010102 2232 EZA
Z32IE Eta Haz32E (OIx5=2) M3 10.4 90,000 938,088 3,000 31,269 15,000 156,348 108,000 1,125,705
Z32IE Eta 2232/, fck=30MPa M3 128.3 100,000 12,832,900 3,000 384,987] 15,000 1,924,935 118,000 15,142,822
za23 e HD-10 TON 2.004| 1,250,000 2,504,795 1,250,000 2,504,795
za23 e HD-13 TON 2.005| 1,245,000 2,496,243 1,245,000 2,496,243
za23 e HO-16 TON 7.8% | 1,245,000 9,779,179 1,245,000 9,779,179
za23 e HD-19 TON 4.381 1,200,000 5,257,059 1,200,000 5,257,055
H2 22 ¥ HEXY TON 15.77 300,000 4,731,405 300,000 4,731,409 600,000 9,462,810
SEHEY &3 L A sy M2 185.9 4,000 743,640} 2,000 371,820 80,000 14,872,800 86.000 15,988,260
S22 47 2 WAl M2 248. 1 4,000 992, 200) 2,000 496, 100 75,000 18,603,750 81,000 20,092,050

(& bl 35,544, 100 6,015,581 40,289,238 81,848,919
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010303 A
o4 H g M2 17.3 700) 12,138 300 5,202 7,000 121,380 8,000 138,720
o il M2 3.0 700) 27,300 800) 31,200 7,000 273,000 8,500 331,500
] 39,438 36,402 394,380 470,220
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010104 E & 2 A
X1 ErY bt M2 17.9 20,000 357,204 20,009 357,204
SIIREY o M2 84.6 15,000 1,268,908 15,000 1,268,908
Bt o=t 200D bt M2 17.3 1,000 17,340 20,009 346, 800) 21,000 364, 140
Ete 201 o M2 82.1 3,000 246, 390) 25,000 2,053,250 28,000 2,299,640

(g ] 1,626,112 263,730 2,400,050 4,289,892
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010105 =R
S E (S, H) bk M2 52.6 40,000 2,103,600 35,000 1,840,650 10,000 525,900 85,000 4,470,150
[et ] 2,103,600 1,840,650 525,900 4,470,150
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010106 & & = A
AD_1FO1 4.000 x 2.400 = 9.600 EA 1.0 1,728,000 1,728,000 1,728,000 1,728,000
AW_1FO1 0.900 x 1.800 = 1.620 EA 1.0 291,600 291,600 291,600 291,600
AN_1F02 5.000 x 1.500 = 9.000 EA 1.0| 1,620,000 1,620,000 1,620,000 1,620,000
AN_1F03 0.900 x 1.800 = 1.620 EA 3.0 291,600 874,800 291,600 874,800
FSD_1FO1 1.100 x 2.100 = 2.310 EA 1.0 415,800 415,800 415,800 415,800
PD_1FO1 1.100 x 2.100 = 2.310 EA 2.0 415,800 831,600 415,800 831,600
S0_1FO1 1.100 x 2.400 = 2.640 EA 6.0 475,200 2,851,200 475,200 2,851,200

(& ] 8,613,000 8,613,000
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010107 & 2 3 M
HdEs 3 @2008US(1.2T) M 7.6 130,000 988,000 130,000 983,000
AH NTES MX 300+300+1.5t EA 2.0 55,000 110,000 55,000 110,000
=ocyol g3 L&, D150mn pES 2.0 80,000 160,000 80,000 160,000

(& 2] 1,258,000 1,258,000
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010108 U & 2 At
StNIAZZ O AT 6002 M2 6.63 5,000 33,150 3,000 19,890 90,000 596, 700 98,000 649, 740)
HIZErY Z0/EA4 9 HIZEIY, HREY M2 28.4 1,000 28,400 500 14,200 12,000 340,800 13,500 383,400
HIZAIE Z01/=5a HIZAIE, 2.0m, EEX| M2 41.07 600 24,642 500 20,535 9,000 369,630 10,100 414,807
CHiHIE / R ST M2 34.47 6,000 206,820} 6,000 206,820
LALLM T &3 e, MEE T M2 69.49 60,000 4,169,400 60.000 4,169,400
sseA g5 HE OpAEA M2 76.10 10,000 761,000 10,000 761,000
TS 47 N-BAR M2 76.10 13,000 989,300 13,000 989,300
(& ] 6,212,712 54,625 1,307,130
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EEEIEENEE EYUPRBIS 2 25,000 2,517,000 805,440 33,009 3,322,440
FEHCE2 EYD201S 1500 15,000 2,605,800 1,389,760 23,000 3,995,560
HIOIAB & X QIet, 50mn, Sl 80,000 15,842,400 7,921,200 3,960,600 140,000 27,724,200
[& 21 20,965,200 10,116,400 3,960,600 35,042,200
(& 21 77,346,642 20, 163,508 52,824,098 150,334,248




